T
Bridgeclub Lier *** ClubTornooi *** 14 giften per ronde *** 09/05/2018 NZ OwW gift ]q1ft <g1ft ‘qlft Zglft ‘qlft églft ’qlft Eglft quft ]glft ]qlft ]glft ]qlft
datum datum= datum datum= datum datum datum datum datum datum datum datum datum datum
1 Gielen Steven-Moriaux Paul 101 Van Uffel Jeannine-Roelans Chris 1 2 5 4 4 -1 -1 -3 -3 0 1 -5 4 1 4 9
2 Meerbergen Paul-Dewitte Philippe 102 Carrette Patrick-Oosters Emiel 3 4 -7 ‘ 3 ‘ 9 ‘ -2 ‘ -1 ‘ 1 ‘ 2 ‘ 11 : 1 2 ‘ 4 ‘ 1 ‘ 4 ‘ -8
3 Van Den Hove Wouter-Duverger Jan 103 Verleyen Leentje-De Schepper Lieven 5 6 _o 3 2 g ' -1 1 5 o 1 1 4 13 - -12 ' -12
4 Cle Hilda-Mertens Monique 104 Van den Eynde Dries-Mistiaen Dierik 7 8 -1 —g 5 -1 1 1 3 0 1 2 4 o 4 -4
5 De wael HermanfDe.Prater Ludo . 105 Kaufman ;eunfEsses Isaac 9 10 2 ' 4 ' 3 ' -1 ' 1 1 2 ' 1 1 2 ' 6 0 ' 5 ' 9
6 Van Der Vloet Christian-De Rycke Denis 106 Chabot Ll]l_lane—Wynen Robert 11 12 R R S 1 1 3 0 5 1 4 0 5 ' g4
7 Claus Herman-Janssens Lutgarde 107 Apers Marie-Anne-Reynders Lode 102 101 5 ' 4 ' 3 ' 1 ' 0 1 3 ' 0 1 1 ' 5 1 ' 5 ' 5
8 Cools Marc-Vantongerloo Liliane 108 Janssens Viviane-Vervloessem Guy ! ! ! ! ! ! ! !
9 Desart Herman-Verdonck Rita 109 Hellin Michel-Bogaerts Ludo 104103 5 -8 =3 -1 0 0 -1 0 1 2 -8 o 1lz- -4
10 Hennen Chris-Bijttebier Kathleen 110 Geens Jos—-Bosmans Rosette 106105 -8 ) -8 ) -2 ) -1 ) 0 -13 -3 0 1 ) 2 ) -8 1 ) —4 ) -5
11 Mangelschots Serge-Hofmans Anne 111 De Ridder Dirk-Waegemans Stefan 108 107 -2 } 4 -3 } 9 .1 1 3 0 2 } -6 } 4 0 } 12 B 7
12 Van den Bergh Anke-— 112 Charpentier Wim-De Ruijter Philip 110 109 -2 4 -2 -1 -1 0 =7 0 -10 1 -9 0 -11 -4
112111 4 4 -2 -2 1 0 5 0 -10 -12 4 0o -11 9
NZ oW gift ]qlft ]glft ]qlft ]glft ]qlft <g1ft 4q1ft <g1ft 4q1ft <g1ft 4q1ft <g1ft 4q1ft 28 NZ OW
datum datum datum datum datum datum=datum=datum=datum=datum=datum=datum=datum= datum -40
1 102 -4 0 1 3 0o -7 -11 2 6 11 - 3 5 -2 3 -3 50 028-1
3 104 2 1 -1 a4 o -7 -11 -5 -1 -12 11 - 6 -3 -10 10 -470 O2H!=
5 106 3 1 -1 3 -1 6 6 0 -1 11- 1 6 5 -3 3-140 W3H=
7 108 -3 0 -1 a4’ 2 -7 3 0o -1 2 -5 -3 -2 -3 3-140 w2H+l
9 1100 2 1 -1 3 0o 9 -11 0 -1 -10 1 0 5 4 -4 100 W3H-2
11 112 -2 1 -1 -8 0o 5 6 0 5 -10 -7 -3 3 -2 2 -110 w2H=
2 101 2 o -1 -12 1 -7 6 -1 -3 11- 1 -3 -2 3 -3 50 W3H-1
4 103 -2 0 1 3 2 s 6 0 -3 -10 1 -3 -2 -3 3 -140 W3H=
6 105 -2 1 1 4’ -1 3 ' -11 0o 6 11- -5 0 0 3 -3 50 mwW3H-1
8 107 3 -1 1 a4 12-° -8 6 0 -1 -10 1 -3 -10 4 -4 90 NIN=
10 109 4 -1 1 -12 -1 s 6 -1 -3 -10 1 0 -2 -3 3 -140 wW2H+1
12 111 -3 6 1 4 1 5 6 -1 -1 114 1 -3 5 3 '-3 50 wW3H-1




